Practice Problems for Balancing Redox Equations in Acid/Base
Redox Reactions in Acidic Solution:

1.1 (aq) + ClO(aq) — Iz (ag) + Cl (aq)

2. As203(s) + NOs (aq) —— Hs3AsOs(aq) + NO (Q)
3. Br (aq) + MnOs (agq) —— Brz2() + Mn2*(aq)

4, CHsOH (aq) + Cr0O7>(aq) — CH0O() + Cr3+(aq)
5. Mnz*(aq) + BiOs (aq) —— Bit*(aq) + MnOs (aq)
6. Sg(s) + NOs (aq) —— SOsz(aq) + NO(Q)

7. HsAsOs(aq) + Zn(s) —— AsHz(g) + Znz*(aq)

8. P4s(s) + Cr:072(aq) —— HsPOs(aq) + Cr3*(aq)

Redox Reactions in Basic Solution

1. Al(s) + MnOs4 (agq) —> MnO2(s) + AI(OH)s (aq)
2. NO2 (aq) + Al(s) — NHs(aq) + AIO2 (aq)

3. Cr(s) + CrO4z(aq) ——> Cr(OH)s(s)
Note: Cr(OH)s is found in BOTH half reactions!

4. MnOs (aq) + S>(aq) —> MnO2(s) + SOsz%(aq)
5. Cl2(aq) + Brx() —— OBr (aq) + CI (aq)

6. H202(aq) + I (aq) — 10s (aq)

7. NOs (aq) + NHs(aq) — NO:2 (aq)

8. Ss(aq) + MnOs (agq) — SOsz(aq) + MnO2(s)



